Year 1 maths - Summer 1 Week beginning: 4.5.20

Theme Adding equal groups Adding equal groups Making equal rows Making doubles Consolidation
Factual Count or skip count in 2s Count or skip count in 5s Count or skip count in 10s .
flyency (to Start counting from different Start counting from different Start counting from different ggz:: g:ztag:g: :: g: ::gm ;g L—?)% IS 3 lectdoubles, select
aid fluency) | numbers. numbers. numbers.
(Lesson 1 resources below) (Lesson 2 resources below) (Lesson 3 resources below) (Lesson 4 resources below) (Lesson 5 resources below)
MAKING LINKS: MAKING LINKS: MAKING LINKS: MAKING LINKS MAKING LINKS:
Last week we learnt about In year 1 we have learnt We have been practicing We learnt about doubles in This week we have added
equal groups. Equal groups different ways fo count adding equal groups fo find reception. A double is an equal groups, equal rows and
have the same amount in objects efficiently. how many there are exact copy of the same made doubles.
each group. THINK: (support below) atfogether. amount. THINK: (support below)
THINK: (support below) Can you help me with this THINK: (support below) THINK: (support below) Look at the picture.
problem? Can you help me with this Ly e
Can you help me with this problem? Can you help me with this
problem? My friend has 5 pofts with 2 problem?
counters in each pot. How My friend has some crackers
My friend has equal groups of | many counters are there all arranged in rows on a tray. My friend has 2 apples.
orange pieces. togethere
How many pieces of orange How many crackers do they What happens if they double
] o My friend also has 3 pots with have all together?e the amount of apples they
are there in fotal? 6 counters in each pot. How have?
Problem/ - . many counters are there in Say how many there are in
activity of E'S?'r?g?:éesg:\éz TQ'CSI dp”rigkr)]l.em totale each row. Use opple; or any other object
the day to solve this problem. _
SEE: (model below) que counters (or use Usg crackers or any other . _ Make three maths stories
objects) and 5 pots or plates object arranged in the same My friend has 5 strawberries. about equal groups.
SEE model below to solve the problem. way to help you solve this What happens if they double
SEE video problem. 52 Show your understanding in as
Finished? Explain what the many ways as you can.
DO: Use what you have leamt most efficient way to count is Finished? Teach someone Use objects to help you solve
—_ for each problem. about how rows are similar to this problem. Finished? Explain what the
today to solve the problems . .
groups. multiplication sign means to a
below. SEE: (model below) Finished? Use the family member.
SEE model below. SEE: (model below) mulfiplication sign to solve this
SEE model below problem. SEE: (model below)
DO: Use what you have learnt SEE video SEE: (model below) SEE model below
Loe?gg\// o solve the problems Eo_%oli,sfovzgﬁ,reﬂié Z?g;fﬂgm SEE modiel below DO: Use what you have learnt
’ below. DO: Use what you have learnt | today to solve the problems
today to solve the problems below.
below.
Methods, Answers: check the answer | Answers: check the answer Answers: check the answer | Answers: check the answer
tips, clues sheet below sheet below Answers: count fo check sheet below sheet below
& checks

See below for resources to support you to THINK-SEE-DO
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https://www.topmarks.co.uk/maths-games/hit-the-button
https://vimeo.com/411455318
https://vimeo.com/411456007

DAY 1 resources :

THINK:

oy

{rays oj
N roUps 0

] ?’tves i

20

céloéioeod)
relceinee)
relceiree)

There are D groups

Each group has |:| koalas

|| fours= | |

There are |:| koalas

MWW |(There are roups
g P
Each group has D frains
SRS SAEE :
sives = |:|
300 405 45 T 4B 4§ |There are || trains
Challenge

| have 4 more books than S|:]Ih.|r has. How many books
must | give Sally so that we have the same number of

books®z
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DAY 2 RESOURCES:

DO:
Fill in the blanks.
 d 49 4 There are groups.
J e )
Each group has fennis bdalls.
e fours =
A There are tennis balls in fotal.

groupsof 2=8

00 | ¢¢
(2] 2:) o6

g g twos =8
There are 8 buttons altogether.

6&&&6 groups of 5=
6 6 6 6 6 fives =
6 6 6 6 6 There are cherries altogether.
nnnnnn aroup of &
NNNNNN | |sves-
nnnnnn There are magnets alfogether.

Challenge

Use the numibsers 12 and & to create vour own word
problem. Show me how you would answer the word
problem and draw pictures 1o help.
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DAY 3 RESOURCES:

THINK:

SEE:
SEE video

There are L&
i

here are
5] rows oj
5] threes

12

\5

|8

Ckacrb n | row

b Jernckers . Z rows

rackers i 3rows
cuckersin. L rows
rackers in D rows

TOWs.
“n each row

cmd&era Ln 6rows

8

18

18

DO:
Find a group of objects around the house (pasta, toys, Lego,
crayons) or tear some paper info good sizes.

Example: | found some Lego
Make equal rows of that item.

Example:

voooe
voooe
oo
2 2 d J 4

Take turns to talk about the rows.

Example: there are 4 rows, there are 5 pieces of Lego in each
rOW.

Find out the total
Example: 4 fives = 20

You can work by yourself or take turns with a partner.

Challenge — write your own problem about rows for a
friend to solve.

Draw and write to explain to your friend how to solve
the problem.
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DAY 4 resources:

THINK:

‘ ‘ Double 2
' ‘ 7 twos =

"
§

T,
T

'
=

9 Dol 5 -
' thvcs i

\0

\0

DO:

i W T W T W T W

v 8y v 8y w9y v 9y

- - - -

T T % T %

8 ¢ @

i W i W

v (W 8y
Double 3= fhrees Double & = sixes

Couble 4 =

What is double 42

What is double 92

Double 9 =

Challenge

John is growing a beanstalk. On Monday the beanstalk is
5cm. After cne week the beanstalk is double that height.
How tall is the beanstalk now?s Explain your answer.
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DAY 5 resources:

THINK
SEE:
O grou,asOJr
D {wos ’
[2]- [2] - [4] M roupsoj [L]-[2]
218 i ours =[2]
There are 2 p‘t[cs Qf 2 books. M L el

roups 0 E]
A
+[3] Le]

[2] - (5] [e]
There are Z groups oj 3pens.

ere are 3 qroups ojl, Penals.

8

There are Qroups.

Each group has

Thers are & cakss.,

Each coke haos 3 candles.

How many candles ars there in
allg

candlas in all.

w W W crats.
W W W threes =
w W W There are crobs
altocgether.
There are groups.
: : : : Each group has fish.
@< @ & @ fours =
@& & & There are fish in total.
sfravssts | o o1 o
EEE 60606000
sYradps? Pl o2l o®i =l
& $5L 480 60000000

There are & bicycles.

Each bicycle hos 2 wheels.
How many whesls are there
alfogether?

Thers are wheels in all.
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DO:

Challenge
Make three stories about equal groups. Use these
pictures and words to help you.

teacup frain carriage carousel
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Day 1 answer sheet Day 2 answer sheet

Fill in the blanks.

%) %) %) There are 3| groups jj W@ |Thereare |4 | groups.
o 4 i
%) %) %) Each group has *4 koalas Each group has fennis balls.
. 4 |fours= |16
®® T pon-n 20 |00
%} %) %) f o o PP |thereae 116] tennis balls in total,
There are 12 koalas

groups of 2=28

9@99 - twos =8

4

There are 8 buttons alfogether.

o
o

WEAB WS WS W8 |There are 3] groups

Each group has [ g | trains

3| sixes = |18

r

W00 IT WG B g | Thereare (18 frains
Challenge

5 |groupsof 5= |25

105 400 105 00 408 10 Tives- o5

There are | 25| cherries altogether.

¢ G Gee
¢ 6 Gee
€6 e¢ee o
¢ G GQe
¢6¢6e¢e O

| have 4 more books than Sally has. How many books 3 |group of 6
must | give Sally so that we have the same number of HHBHHB 3|sies= [1g
books?
nnnnnn There are  |18| magnets altogether.
2 books

Challenge

Use the numbers 12 and & to create your own word
problem. Show me how you would answer the word
problem and draw pictures to help.
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Day 4 answer sheet

Day 5 answer sheet

Double 3= 7 threes

=| 6

Double & = 2 sixes

=12

233
333
333

-~ -~ -~ -~
9y 8y w8y 8y There are |3 |groups.
C 3 - - C
-~ -~ -~
"9y v W8y Eachgouphas | 3
FES P crabs.
'8 8y

9

3 | threes =

There are |2 | crabs
altogether.

What is double 4¢

Double 4=| 8

What is double 9¢

Double 9= |16

geee
geeé
geee
Reeé

There are | 4 | groups.

Each group has 4 | fish.

4| fours = |16

There are |16 | fish in total.

Challenge

10cm

John is growing a beanstalk. On Monday the beanstalk is
S5cm. After one week the beanstalk is double that height.
How tall is the beanstalk now? Explain your answer.

é.fﬁ’ LR A 4
TS
YTSYTSYY,

{
{
{

There are & cakes.

Each cake hos 3 candles.

How many candles are there in
all

18

There are candles in all.

C0e 10610010
GOCOEOE0

There are 8 bicycles.

Each bicycle has 2 wheels.
How many wheels are there
altogether?

There are 16 wheels in all,
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Day 5 answer sheet continued

Challenge
Make three stories about equal groups. Use these
pictures and words to help you.

teacup frain carriage carousel

Teacups

There are 2 groups.
There is 2 in each group.

2 groups of 2 =4
2 twos =4

Train carriage

There are 3 groups.
There is 2 in each group.

3 groupsof2=56
3twos =6

Carousel

There are 4 groups.
There is 4 in each group.

4 groups of 4 =16
4 fours =16

You may have shown your understanding in
more ways.
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